OnpeaeACHUE KBAAPATUIHOMN
(pyHKL[HH

[leMOoHCTpaLUMOHHbIN MaTepuarn

9 knacc



O1mpeAeACHNE KBAAPATUIHON (DYHKITIN

y=ax+b - nuHeiiHas pyHKUMS

y=axt+bx+c
- KBaJIpaTu4yHas (PyHKIMS

a,b,c — 3afaHHble
OENCTBUTENbHbIE YNCNA

a+0

X — NEVNCTBUTE/IbHASA NepeMEHHas




OHPCACAeHI/IG 3HAYCHUU KBAAPATHUYIHOU
qWHKHHH

Hantn 3Ha4yeHune ,
DYHKLMM V(X)=X—=5x + 6
npu x=2, -2, 0.

y(2)=2"=-5-2+6=0
P(=2)=(-2)"=5-(-2)+6=20
1(0)=0"=5-0+6=06




Hawrtw sgavyeHne aprymenTa, ecAn
3HaveHUE PYHKIIUU PAaBHO -52.

y(x)=x"—15x-2

PelwleHue:
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